Read the blogpost linked below, and answer the 3 questions. Your answer should be maximum half a page long. 

https://voxeu.org/article/son-preference-and-indian-child-malnutrition

The paper starts with the observation that Indian children on average have lower height-for age than African children on average (looking specifically at data from 25 African countries). 

a. The authors claim that this difference in height is NOT caused by genetic differences or differences in wealth or environment. What kind of comparison do they make in order to rule out those explanations? (describe the main method).  
b. The authors highlight a difference between girls and boys in the Indian data. Describe the nature of this difference. 
c. The authors discuss parental investments in children. Explain what they mean by these “investments” and how they measure them in the data. 


